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200/40 200 10 30 200
TBOPOr HEXUPHLIN 142.8 142.8] 0.1428 260| 37.128
Kpyna maHHag 10 10 0.01 39.5[ 0.395
Caxap necok 20 20 40 0.04 40 1.6
AGnokun ceexne 65.8 10 200 275.8| 0.2758 74| 20.4092
Conb 1 1 0.001 12 0.012
Anua 10 10 0.01 127.5 1.275
CmeTtaHa 4 4 0.004 175 0.7
Macno pactutensHoe 4 4| 0.004 82.6] 0.3304
Monoko cryuieHHoe 40 40 0.04] 202.6] 8.104
Cyxapwm 4 4 0.004 76.5| 0.306
Kakao nopoLuok 4 4| 0.004 201 0.804
Monoko 100 100 0.1 48 4.8
Macno cnuBo4Hoe 10 10 0.01 450 4.5
Xneb NweHNYHbIN 30 30 0.03 41.7 1.251

WToro:

81.6146
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180 200 10 30 200
MakapOoHbl 65 65/ 0.065 29.8 1.937
Conb 2.3 2.3| 0.0023 12| 0.0276
Macno cnueo4vHoe 12. 10 22.6| 0.0226 450 10.17
Anua 26 26/ 0.026 127.5| 3.315
Monoko 33 33] 0.033 48 1.584
Cblp 14.5 14.5( 0.0145 420 6.09
Macno pactutensHoe 4 4 0.004 82.6] 0.3304
Yan 1-ro copTa 0.5 0.5| 0.0005 495| 0.2475
Caxap-necok 15 15 0.015 40 0.6
Xneb NweHWYHbIN 30 30 0.03 41.7 1.251
baHaH kannbpoBaHHLIN 200 200 0.2 92 18.4

NToro:

43.9525
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200 10 15 200 30 200
Kpyna nweHHag 40 40 0.04 38 1.52
Mornoko 100 50 150 0.15 48 7.2
Conb 1 1 0.001 12 0.012
Caxap-necok 6 15 21 0.021 40 0.84
Macno cnmBo4yHoe 10 10 20 0.02 450 9
CbIp pOCCUIACKUIA 16 16 0.016 420 6.72
Yan 1-ro copta 0.5 0.5] 0.0005 495| 0.2475
Xneb NweHNYHbIN 30 30 0.03 41.7 1.251
ABNoKo ce3oHHoe 200 200 0.2 74 14.8

WToro:

41.5905
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